@ HUquarna ) E;W ‘e)) |10700178

IPL, Grass Catcher, Grass Collector, H348 HL, 2007-05, 544 37 43-06

96071001400

Grass Catcher
Grass Collector
H348HL

Spare parts
Ersatzteile

Piéces détachées
Reserve onderdelen
Repuestos
Reservdelar

544 37 43-06



H3

/S
7y

48HL (96071001400)

~

KEY PART

NO. NO.

1 5324010-47
2 53206 91-80
3 53219 27-09
4 5321953-73
5 53212 68-40
6 81802 10-08
7 5321309-33
8 53208 71-75
9 81906 12-16
10 53200 72-06
11 532 06 08-67
12 81007 10-00
13 53210 98-08
14 532 12 50-04

532 13 07-60

DESCRIPTION

Adapter

Nut, Crownlock #10-24
Screen, Cover

Cover Assembly
(Includes Key No. 34, 37)
Chute, Upper

Screw, Special #10-14x1/2
Full bag Indicator

Screw, #10-24 x 1-1/8
Washer 3/16x3/4x16 Ga.
Spacer, Split

Nut, Acorn #10-24
Washer, lock

Latch, Chute

Nut, Weld

Latch, Hook

KEY PART

NO.

18
20
26
28
29
30

NO.

532 13 07-59
532 16 28-03
87116 10-10
532 12 46-70
532 19 83-64
532 17 69-97
532 16 58-98
532 17 40-83
532 17 69-90
532 19 27-86
532 19 25-50
532 18 32-86
532 12 95-86
532 19 26-03
532 13 08-95
532 41 19-61

DESCRIPTION

Rubber, Latch
Chute, Lower
Screw #10-24 x 5/8
Spring, Retainer
Support Assembly
Shoulder Bolt, Tapping
Spring, Retainer
Plug, Tubing End
Bagger, Frame

Pin, Hinge

Gasket, Cover
Container, Top
Container, Bottom
Ring, Cover Gasket
Latch Handle, Cover
Owner's Manual



